



# Maisonette in Paola

Paola, South



**€540,000**

Reference No: 240231091-62

Total Rooms: 5

Floor Area (m<sup>2</sup>) : 89

Bathrooms: 1

Bedrooms: 1

# Maisonette - For Sale - Paola

PAOLA – Ground- FLOOR MAISONETTE located close to all essential Amenities, set within an Urban Conservation Area. The layout comprises a Living/Dining area, Kitchen, Toilet, and a Back Yard. The property is being sold Furnished, Freehold, and includes full Roof and Airspace. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

## Features

- ✓ Air Space
- ✓ Roof Terrace
- ✓ Back Yard

## Rooms

- ✓ Living : 5.3 x 3.4 m (18.02 m<sup>2</sup>)
- ✓ Kitchen/Dining : 4.6 x 3.4 m (15.64 m<sup>2</sup>)
- ✓ Double Bedroom : 4.6 x 3.4 m (15.64 m<sup>2</sup>)
- ✓ Guest Toilet : 1.23 x 1.13 m (1.39 m<sup>2</sup>)
- ✓ Open Space : 9.64 x 3.63 m (34.99 m<sup>2</sup>)
- ✓ Kitchen : 2.29 x 1.78 m (4.08 m<sup>2</sup>)

# Gallery





**Khayri Salah**

RE/MAX Centerparc - Qormi

M: 79250977

E: [ksalah@remax.com.mt](mailto:ksalah@remax.com.mt)

T: 27344344

**RE/MAX Centerparc - Qormi**

Centerparc Complex, First Floor, Triq it-Tigrijiet, Qormi, Malta